DUSS MeiBelhammer

Ersatzteilliste PKX4

Ident-Nr. Benennung Bestell-Nr. Stuck
25180  Manschette PKX4-4 1
53034  Sprengring PKX4-5 1
25181  Futterhilse PKX4-6 1
53051 Runddrahtsprengring PKX4-7 1
83483  Futterring PKX4-8 1
24205  Feder PKX4-9 1
24206  Passscheibe PKX4-10 1
83491  Hilse PKX4-11 0
51005  Zylinderschraube M5x65 PKX4-12 2
51006  Zylinderschraube M5x25 PKX4-13 2
54000  Kupferdichtring M5 PKX4-14 10
21002 Bohrkopfdichtung PKX4-16 1
54106  O-Ring 26x5 PKX4-19 2
83489  Dampfscheibe PKX4-20 3
83482  Futterrolle PKX4-22 2
24104  Axialscheibe PKX4-33 2
24011  Kolbenbolzen PKX4-41 1
24059  Federring PKX4-43 2
25171  Pleuel PKX4-44 1
82030  Zylindergehause PKX4-46 1
25182  Oberschale PKX4-47 1
51007  Linsenschraube 3,5x20 PKX4-48 6
51047 Flachsenkkopfschraube 4x27 PKX4-49 6
24075  Zylindergehausedichtung PKX4-50 1
83005  Schaltwelle PKX4-51 1
54019  O-Ring 20x1 PKX4-52 1
55046  Kugel 93,5mm PKX4-53 1
24157  Rastenfeder PKX4-54 1
83316  Schaltflansche PKX4-55 1
54018  O-Ring 13x1,5 PKX4-56 1
53024  Federzahnscheibe PKX4-58 2
51072  Linsensenkschraube M4x10 PKX4-59 2
53017  Sicherungsscheibe M4 PKX4-60 2
51011 Zylinderschraube M4x12 PKX4-61 2
55043  Zylinderlager PKX4-65 1
82014  Getriebeplatte PKX4-66 1
51026  Zylinderschraube M5x16 PKX4-67 6
54056  V-Ring PKX4-68 1
54020  O-Ring 18x2 PKX4-69 1
83067  V-Ringscheibe PKX4-70 1
55003  Rillenkugellager PKX4-71 1
53003  Sicherungsring PKX4-72 1
81000  Anker, 230V PKX4-73 1
55000 Rillenkugellager PKX4-74 1
82024  Lagergummi PKX4-75 1
83043  Kurbel PKX4-76 1

04.08.2015



DUSS

MeiBelhammer

Ersatzteilliste PKX4
Ident-Nr. Benennung Bestell-Nr. Stuck
55002 Rillenkugellager PKX4-77 1
83049  Kurbelrad PKX4-78 1
51045  Linsenkopfschraube 4x48 PKX4-79 2
25019  Luftleitflansch PKX4-80 1
81233  Feldpaket, 230V PKX4-81 1
25183  Motorgehduse PKX4-82 1
81230  Elektronik PKX4-85 1
81062 Kohlehalter PKX4-86 2
22153  Kohlebdrste PKX4-87 2
51046  Linsenkopfschraube 3x10 PKX4-88 4
51008  Linsenkopfschraube 4x14 PKX4-89 6
25025  Motordeckel PKX4-90 1
52212  Kondensator, komplett PKX4-91 1
81060  Drehwiderstand PKX4-92 1
81086  Elektronikkabel, komplett PKX4-93 1
24081  Stellradfeder PKX4-94 1
25178  Schalterschutz PKX4-96 1
52026  Schalter PKX4-97 1
25049  Schalterhandgriff PKX4-99 1
51050  Linsenkopfschraube 4x20 PKX4-102 2
25004  Kabelklemme PKX4-104 1
25009  Kabelschutzschlauch PKX4-105 1
52001 Kabel mit Stecker PKX4-106 1
51009  Zylinderschraube M4x10 PKX4-107 2
58018  Tellerfeder PKX4-108 2
83686  Bohrkopf PKX4-200 1
83687  Schaltklaue PKX4-201 1
83688  Bohrspindel PKX4-202 1
54033  O-Ring 15x1,5 PKX4-203 3
54111 O-Ring 16x2,5 PKX4-204 2
83694  Déampfgeh., Zyl.-Geh., unten PKX4-211 1
83696  Dampfergeh., Mot.-Geh., unten PKX4-212 1
24297 Druckfeder PKX4-214 4
25270 Enddampfer PKX4-215 2
58016  Passscheibe PKX4-216 4
83695  Dampfgeh., Mot.-Geh., oben PKX4-217 1
83706  Dampfgeh., Mot.-Geh., komplett PKX4-217k 0
51131 Senkkopfschraube 4x12 PKX4-218 2
58002  Tellerfeder PKX4-219 2
83693  Déampfergeh., Zyl.-Geh., oben PKX4-220 1
83705  Déampfgeh., Zyl.-Geh., komplet PKX4-220k 0
83691  Abstandsbuchse PKX4-221 4
51208  Linsenschraube M5x50 PKX4-222 2
51210  Linsenschraube 5x48 PKX4-223 2
54155  O-Ring 27x3 PKX4-300 2
83697  Gleitlager PKX4-301 1

04.08.2015

2/3



DUSS MeiBelhammer

Ersatzteilliste PKX4

Ident-Nr. Benennung Bestell-Nr. Stuck
83698  Dopper PKX4-302 1
83700  Anschlagring PKX4-303 1
54008  O-Ring 38x5 PKX4-304 2
55042  Lagerring PKX4-305 0
83701 Lagerhlse PKX4-306 1
54021  O-Ring 35x3 PKX4-307 1
83699  Zylinder PKX4-308 1
83058  Schlager PKX4-309 1
83079  Schlagerring PKX4-310 1
54037 Kolbenring PKX4-311 1
25223 Kolben PKX4-312 1
83597  Kolben, komplett PKX4-312k 0
55138  Lagerring 38x42x12 PKX4-313 1
51170  Sechskantschraube M8x150 PKX4-314 1
25211  Spatengriff PKX4-315 1
25227  Spatengriff, komplett PKX4-315K 0
24247  Druckfeder @10mm PKX4-316 1
55117  Scheibe PKX4-317 1
51167  Sterngriff PKX4-318 1
25194 Klemmring PKX4-319 1
25269  Umschalthebel PKX4-320 1
82151 Umschalthebel, komplett PKX4-320k 0
24298  Typenschild PKX4-321 1
27124 DUSS-Aufkleber PKX4 PKX4-322 2
83688  Bohrspindel PKX4-Div4 1

04.08.2015






